
 
 

YAMAHA VIRAGO 535 <’99 (Turn lights under the rear seat end) 
 

SISSYBAR ASSEMBLY INSTRUCTIONS 

(1) Sideplates  

A) Remove the helmet lock located on the left side of the rear fender.  

B) Remove the trims that cover the upper part of the shock absorbers. 

C) Remove the screws that fix the upper part of the shock absorbers. Remove the shock absorber from its 
anchor, insert the front part of the side plates into the shock absorber support stem. Place the shock 

absorbers, put the 14x4x8 bushings and fix with the M8x20 screws that come in the kit. 

D) Remove the rear indicators. The cables must first be disconnected at a faston junction located under the 
seat. Under the fender, the cables are guided by metal plates that can be easily opened to better remove the 
cables. 

E) Fix the Spaan side plates in their central hole to the turn light anchor, as shown in the diagram. The indicators 
will be transferred to the hole that the side plates carry on their rear.  

F)  Fix the sisybar arch to the side plates, with the four M6x20 screws. Put the M6 nuts on the inside. In case of 

mounting the grill, use these same screws, and fix it with the M6 nuts.  

G) Tighten all the hardware. Fix the helmet lock on the left plate, in the place provided for it. Connect the 
indicator cables. 

H) A groove must be made in the trims that cover the shock absorbers. Position them to mark the spot and 
make those grooves. Place them and tighten the screws that fix them.  

                         
 

(2) Sissybar uprights – luggage rack arch 
Fix the sissybar upright (high or low), or in case of a luggage rack or luggage rack TC, the luggage rack arch to the 

sideplates SPAAN with the four screws M6x20. Put M6 nuts from the inside. 
 

(3) Rack 
For installation in luggage racks kits or in any sissybars of our brand SPAAN. We must place it the inside of the small 

arch or the sissybar uprights and fix the assembly with the 4 screws M6x20 and nuts M6 included in the original kit. In all 

LUGGAGE RACKS is required to mount the luggage rack arch, to give more rigidity to the assembly. 
. 
 
 
 
 
 
 
 
 
 

(4) Pad 

 Join the set with four screws M5x10 that accompany the kit. (In the back of the pad is marked with four holes in the 
fabric the position of the threads). 
 

 

1- Screw 
2- washer 
3- Fender 
4- washer 
5- Side plate 
6- Washer 
7- Nut 


